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ZBE %154 RRETED
L | A
NN S TIPS | smme | memaw | BEmRM RIEH
= = wxmrmns || REE REREE | ARE BiE
% % % %
3 A Ty AARX 18| 11. 51 1.8 - 9.72
2%E| 1.63 1.5 - 6.14
3 & 4.24 1.1 - 3. 46
4% g4 > T v o RAR 1 11.51 1.8 - 9.72
2% 1.63 1.5 - 6.14
3 4.24 1.1 - 3. 46




HEEHMDELE

i
HERRE g et R
RRR #1K4 FRRILFH
L | A
NN S IBIEEE | srme | memEw | SRR R1H
= = wxmrmns | BEE | megEx | A= A
% % % %
3 A Ty AARX 18| 11. 51 1.8 - 9.72
2%E| 1.63 1.5 - 6.14
3 & 4.24 1.1 - 3. 46
4% g4 > T v o RAR 1 11.51 1.8 - 9.72
2% 1.63 1.5 - 6.14
3 4.24 1.1 - 3. 46
HERRE g Hiat B
RRR %1 K4 RRRTHE
L | A
NN - IBIEHE | srme | memEw | SRR R1H
= = wxprmns || REE REREE | ARE BiE
% % % %
3 A Ty AARX 18| 11. 51 1.8 - 9.72
2%E| 1.63 1.5 - 6.14
3 & 4.24 1.1 - 3. 46
4% g4 > Ty o RAR 1 11.51 1.8 - 9.72
2% 1.63 1.5 - 6.14
3 4.24 1.1 - 3. 46
WERRE g et Rl
ZBE %154 RRR=H
L | A
NN S IBIEHE | srme | memEw | SRR RIH
= = wxmrmns || REE REREE | ARE BiE
% % % %
3 A Ty AARX 18| 11. 51 1.8 - 9.72
2%E| 1.63 1.5 - 6.14
3 & 4.24 1.1 - 3. 46
4% g4 > T v o RAR 1 11.51 1.8 - 9.72
2% 1.63 1.5 - 6.14
3 4.24 1.1 - 3. 46




HEEHMDELE

i
HERRE i it b
RRR #1K4 2B RBUBT
L | A
NN S TRBIENE | smme | memaw | BEsRM RIEH
= = wxmrmns | BEE | megEx | A= A
% % % %
3 A Ty AARX 18| 11. 51 1.8 - 9.72
2%E| 1.63 1.5 - 6.14
3 & 4.24 1.1 - 3. 46
48 HEACTYIRAER 18 11.51 1.8 - 9.72
2% 1.63 1.5 - 6.14
3 4.24 1.1 - 3. 46
HERRE g Hiat B
RRR %1 K4 RRRRHH
L | A
NN - IBIEHE | srme | memEw | SRR R1H
= % wxprmns || REE BEETE | KRR Bt
% % % %
3 A Ty AARX 18| 11. 51 1.8 - 9.72
2%E| 1.63 1.5 - 6.14
3 & 4.24 1.1 - 3. 46
48 HEACTYIRAER 18 11.51 1.8 - 9.72
2% 1.63 1.5 - 6.14
3 4.24 1.1 - 3. 46
WERRE i it b
ZBE #1 K4 e
L | A
NN S TIPS | smme | memaw | BEmRM RIEH
= % wxmrmns || REE BEETE | KRR Bt
% % % %
3 A Ty AARX 18| 11. 51 1.8 - 9.72
2%E| 1.63 1.5 - 6.14
3 & 4.24 1.1 - 3.46
48 HEACTYIRAER 18 11.51 1.8 - 9.72
2% 1.63 1.5 - 6.14
3 4.24 1.1 - 3. 46




HEEHMDELE

Z1F
TEREL e GREt B (I
Y %1 X ZRE =
L =52 A
NN S R SR BRI I
= 2 AR m5e e R HpER HpEE
% % % %
3%F g4 T v AARK 1E| 11.51 1.8 — 9.72
2F| 7.63 1.5 — 6.14
3F| 4. 24 1.1 — 3.46
458 g4 T vy RAR 12 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3% 4.24 1.1 — 3.46
TEREL e Gret B o ek
Y %1 X = B B EAH
I =52 A
NN - RIS | smme | memaw | BEsRM RIEH
= 2 SRS m5e =56 = HpE i
% % % %
3%F g4 T v AARK 1E| 11.51 1.8 — 9.72
2F| 7.63 1.5 — 6.14
3F| 4. 24 1.1 — 3.46
458 g4 T vy RAR 12 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3% 4.24 1.1 — 3. 46
HEREL e GREt B (I
=RE %1 R ZREEWEH
I =52 A
NN S TIPS | smme | memaw | BEmRM RIEH
= 2 SRS m5e =5t e HpEE i
% % % %
3%F g4 T v AARK 1E| 11.51 1.8 — 9.72
2F| 7.63 1.5 — 6.14
3F| 4. 24 1.1 — 3.46
458 g4 T vy RAR 12 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3% 4 .24 1.1 — 3. 46




HEEHMDELE

FI1E
EHEFFESA i et B R dh s
=RE F1RXE &= RIEER
g | osmmx | 0 | e | AgmEs | mEES | EEs
sEpamEn s || BEE BEWEER R R
% % % %
3% g4 T v AARK 1E| 11.51 1.8 — 9.72
2 F| 7.63 1.5 - 6.14
3F| 4. 24 1.1 — 3.46
458 i VT vy XA 1% 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3F| 4.24 1.1 - 3.46
EHEFFESA Hhigg HET B ihisg
=RE %1 R = RIE S AT
B sEpx | NS smme | mfpEs | BEES | BB
R IR EEAEE] S TR ZHEBEE HgER HgE=
% % % %
3% g4 T v AARK 1E| 12.98 1.6 — 11.39
2 F| 9.98 1.5 - 8.49
3F| 6.77 1.2 — 5.65
458 i VT vy XA 1% 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3F| 4.24 1.1 - 3. 46
EHEFFESA i et B R Hh s
=RE %1 ZREAEEHN
B T R R
sEpaEn s | BEE BEWEE R R
% % % %
3% g4 T v AARK 1E| 11.49 2.0 — 9.50
2 F| 7.36 1.5 - 5.90
3F| 4. 01 1.1 — 3.32
458 i VT vy XA 1% 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3F| 4 .24 1.1 - 3. 46




HEEHMDELE

Z1F
TEREL e GREt B (I
Y %1 X ZRIE LKA
L =52 A
NN S R SR BRI I
= 2 AR m5e e R HpER HpEE
% % % %
3%F g4 T v AARK 1E| 11.51 1.8 — 9.72
2F| 7.63 1.5 — 6.14
3F| 4. 24 1.1 — 3.46
458 g4 T vy RAR 12 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3% 4.24 1.1 — 3.46
TEREL e Gret B o ek
Y %1 X SRET S
I =52 A
NN - IBIEHE | srme | memEw | SRR R1H
= 2 SRS m5e =56 = HpE i
% % % %
3%F g4 T v AARK 1E| 11.51 1.8 — 9.72
2F| 7.63 1.5 — 6.14
3F| 4. 24 1.1 — 3.46
458 g4 T vy RAR 12 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3% 4.24 1.1 — 3. 46
HEREL e GREt B (I
=RE %1 R £ BB R AT
I =52 A
NN S TIPS | smme | memaw | BEmRM RIEH
= 2 SRS m5e =5t e HpEE i
% % % %
3%F g4 T v AARK 1E| 11.51 1.8 — 9.72
2F| 7.63 1.5 — 6.14
3F| 4. 24 1.1 — 3.46
458 g4 T vy RAR 12 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3% 4 .24 1.1 — 3. 46




HEEMDIELE

ZFI1E
EHEFFESA i et B R dh s
=RE %1 R ERIEA AT
g | osmmx | 0 | e | AgmEs | mEES | EEs
sEpaEn s | | BEE BEWEER R R
% % % %
3% g4 T v AARK 1E| 11.51 1.8 — 9.72
2 F| 7.63 1.5 - 6.14
3F| 4. 24 1.1 — 3.46
458 i VT vy XA 1% 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3F| 4.24 1.1 - 3.46
EHEFFESA Hhig; RET B ihisg
=RE % 1R ERIEHEMT
s sEpx | NS | smme | mfpEs | BEES | 8BS
sEpamEn s | BEE B EE R R
% % % %
3% g4 T v AARK 1E| 11.51 1.8 — 9.72
2 F| 7.63 1.5 - 6.14
3F| 4. 24 1.1 — 3.46
458 i VT vy XA 1% 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3F| 4.24 1.1 - 3. 46
EHEFFESA i et B R dh s
=RE % 1XiE EZRIE KR
B sEpx | NS smme | mfpEs | BEES | BB
sEpaEn s | BEE BEWEE i R
% % % %
3% g4 T v AARK 1E| 11.51 1.8 — 9.72
2 F| 7.63 1.5 - 6.14
3F| 4. 24 1.1 — 3.46
458 i VT vy XA 1% 11.51 1.8 - 9.72
2F| 7.63 1.5 — 6.14
3F| 4 .24 1.1 - 3. 46




HEEMDIELE

ziF
B RS g iRt B
FRR #1R8 ZRATHE
L 2| A
. N IRBIERE | srme | memEw | SRR R1gH
~ wxmrmns || BEE | EERER | E@E By
% % % %
3 A Ty AARX 18| 11. 51 1.8 - 9.72
2%E| 1.63 1.5 - 6.14
3 & 4.24 1.1 - 3. 46
4% g4 > T v o RAR 1 11.51 1.8 - 9.72
2% 1.63 1.5 - 6.14
3 4.24 1.1 - 3. 46
B RS g iRt B
FRR #1R8 FRARSHA
L | A
. N IBIEHE | srme | memEw | SRR B8
~ sxmmmns | REE BEREE | KEE By
% % % %
3 A Ty AARX 18| 11. 51 1.8 - 9.72
2%E| 1.63 1.5 - 6.14
3 & 4.24 1.1 - 3. 46
4% g4 > Ty o RAR 1 11.51 1.8 - 9.72
2% 1.63 1.5 - 6.14
3 4.24 1.1 - 3. 46




HEEHDIELE

A —bra—>
MEREA o et i
=RE %1 XH =RE
L 2| A
. - X HhRIaEIS £EEE | MEMER BRBH R
% % % %
3%F g4 T v AARK 12| 1.01 1.1 — 0. 61
2 F| 0.05 0.9 — 0.02
3% 0.03 0.9 — 0.01
£FBMOBE
=FhFE
MEREA g, GrEt B i s
ZRE =1 R =RE
N gt LB S s FH D B BRES RIgg
IR RS A TR REWER B EpgR
% % % %
— iAo T RAAR 1Z| 0.07 0.9 — 0.03
2% 0.05 0.9 — 0.02
3E| 0.03 0.9 — 0.01
L% BOOBE
MESE v
MEREA o et i s
=RE 1 XH =RE
L 2] A
I S SRFIRAS | smme | memEx | SRR R
% % % %
— g4/ T v AARK 12| 1.08 1.2 — 0.56
2 F| 0.05 0.9 — 0.02
3% 0.03 0.9 — 0.01




AR 2 (ARERT IR D Xzl 5 LT=3his)

EBEFFE B
ZRE
HEBMDIESE X5 5l2AK Hh i X i
IFnivl & 9%8 ig4( Ty AAFK F1RE [EBRE
1048 ig4( Ty AARX 1R [ERE
= 158 SHBAN F1RXE [EBRE
FHEZARX F1RXE [ERE
—%5K F1RXE [EBRE
2% EHRZEARX 1R [ERE
EHFZANX F1RE [EBRE
—£A5R 1R [ERE
658 g4 Ty AAFK F1RE [EBRE
7 %8 ig4( Ty AARX F1RXE [ERE
848 ig4( Ty AAFK F1RXE [ERE
ING — ig4( Ty AARX 1R [ERE
WAITA 548 g4 Ty AAFK F1RE [EBRE
%% 7 %8 igi4( Ty RAARX 1R [ERE
KEWRALFAR F1RE [EBRE
ZIE 3% ig4( Ty AARX 1R [ERE
438 ig4( Ty AAFK F1RXE [=RE
AA—bra—y 3% g4 Ty RAAR £ 1R ZRE
f-Fh¥ — g4 Ty AAK F1RXE [=RE
MES » — ig4( Ty AARX F1RXE [ERE
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